
Timpani in F#, B, D, E

tre.praze.net/music

p

q = 80 q = 88rall. q = 92

q = 116 q = 92rall. 

21

q = 76rall. q = 100 q = 138 q = 100

38

p

q = 132 q = 96 q = 132 q = 96 q. = 76

49

Doppio movimento q = 132 q = 96 q = 88rall. rall. 

58

q = 80 q = 200

71

q = 238

86

113

117

4

4

2

4

4

4

3

4

4

4

2

4

4

4

4

4

6

8

4

4

4

4

2

4

3

4

4

4

4

4

3

4

4

4

5

4

5

4

6

4

?

3

∑ ∑

U
5

∑

8

Trilogy

Emerson, Lake & Palmer

arr. Tré29

?

5 2

∑ ∑

6

?
∑ ∑

2 2 4

∑

?
∑

U
3

∑

E > D#

F# > A#

2

rall. 

?
∑ ∑

U
4 4

∑ ∑ ∑

?

2

∑

U
3 7 2

?

23

?

?

16

œ
Œ œ Œ

œ
Œ œ Œ

œ
Œ Ó

œ#
œ

Ó

œ#
œ

Ó

œb œ œb Ó
œb œ œb Ó

œb œ œb Ó
œb œ œb Ó

œb œ œb Ó
œb œ œb Ó

œb œ œb Ó
œb œ œb Ó

œb œ œb Ó
œb œ œb Ó

œb œ œb Ó



mp

136

160

q = 63rall. rall. 

176

4

4

?

20

?

14

?

2 3

∑

U

∑ ∑

U

q = 80

œb ™
œb ™ Ó ™

œb ™
œb ™ Ó ™

œb ™
œb ™ œ ™

œ ™ œb ™
œb ™ œ ™

œ ™

œb ™
œb ™ œ ™

œ ™ œb ™
œb ™ œ ™

œ ™

Timpani in F#, B, D, E

2


